Factoring x* + bx + c Name:

Factor the trinomials and find one factor in the left column {how to
color it} and one factor in the right column (which letter to color).

[RIF[aJdfac] i [P]P[F]A]V][H]E]Q 4 x+ 1) (x=1)
'K|HIDIM|L|A|E F|H|B,P|L|AE B (x+2) {(x-2)
Jleiv s|wicla|nlelaim|rlcly] [F (x+3) (x—3)
Hlviw|Jd[1Im|c|e|alk|a|[m|n|A] (x+4) (x—4)
AlirjolLleli|s|alk|H|D|w|kK|H| =F (x+5) (x—5)
LiglE|o|cl|d| I |F|la|B|[Xx|F|a|D| [E (x+6) (x — 6)
Miclal I [r]L|H]a[D{X][K]A|D|Y]| [B7 x-7 (x+7)
N|N|[L|J|E|U|C|B|R|F|J|D|Z|R| (x—8) (x +8)
olo|[n|c|H|E|u]al|k|u]|B]S|Y[x]| _4g (x-10) (x +9)
Njv]olv[c|a[1 F|alD|P|O|R]|Y] (x—11) (x +10)
UIQ|U|N|P|L|G|G[B|/M|Y|N|S|X| By, x—-12) (x+11)
RIT|S|T|T|Y|L|DJU|T|V|T|W|X]| A x—=92) (x+12)
x*+13x+ 12 x®+14x + 40 x*+ 13x + 42

xZ—-11x + 28 x?—-13x + 40 x* —16x + 60

X2+ x—2 x> +x—-86 x>+ 2x—-15

x°—3x — 88 x? — 3x — 108 xZ + 2% — 09
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